
 

Figure SI1 Temporal changes in annual mean relative humidity (RH) (A), air 

temperature (B), evaporation (C), and annual precipitation (D) from 1983–2018 at the 

study site. Solid black squares and circles in graph D represent annual mean 

precipitation in 1983–1998 and 1999–2018, respectively.  

1
9
8

3

1
9
8

5

1
9
8

7

1
9
8

9

1
9
9

1

1
9
9

3

1
9
9

5

1
9
9

7

1
9
9

9

2
0
0

1

2
0
0

3

2
0
0

5

2
0
0

7

2
0
0

9

2
0
1

1

2
0
1

3

2
0
1

5

2
0
1

7

Year

1500

2100

2700

3300

y = 4.33 x + 74.23 
R² = 0.20 

0

60

120

180

240

y = 1.05 x + 28.94 
R² = 0.87, P < 0.01 

20

35

50

65

E
v
a

p
o

ra
ti

o
n

(m
m

)

P
re

c
ip

it
a

ti
o

n

(m
m

)
T

a
 (
℃

)
R

H
 (

%
)

y = 2.35 x + 82.20 
R² = 0.10 

6

8

10

12

(A)

(B)

(D)

(C)



  

Figure SI2 Temporal changes in the onset of leaf unfolding in Nitraria tantutorum 

under water addition treatments, calculated using simple linear regression over the 

period of 2012-2018 for the study site.
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Figure SI3 The correlation between phenological events of N. tangutorum and soil 

water content. A, onset of leaf unfolding; B, 30% of leaves unfolding; C, 50% of 

leaves unfolding; D, end of leaf unfolding; E, 80% of leaves turned yellow; F, the 

cessation of new branch elongation (90%); G, the length of the growing season. 
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